

# ラグランジュ法 (補足)

定理  $f: \mathbb{R}^n \rightarrow \mathbb{R}$   $C^2$  系 13

$$g_1: \mathbb{R}^n \rightarrow \mathbb{R}$$
$$\vec{x} \mapsto (\vec{a}, \vec{x}) - \alpha$$

$$g_2: \mathbb{R}^n \rightarrow \mathbb{R}$$
$$\vec{x} \mapsto (\vec{b}, \vec{x}) - \beta$$

12

$$(1) (H(f)(P) \vec{v}, \vec{v}) > 0 \quad (P \in \mathbb{R}^n, \vec{v} \neq \vec{0})$$

$$(2) \vec{a} \neq \vec{b}$$

$\exists \vec{a} \in \mathbb{R}^n$   $P_0 \in \mathbb{R}^n$  かつ

$$\exists \lambda \exists \mu \quad \nabla f(P_0) + \lambda \nabla g_1(P_0) + \mu \nabla g_2(P_0) = \vec{0}$$

$$g_1(P_0) = g_2(P_0) = 0$$

$\exists \vec{a} \in \mathbb{R}^n$  かつ

$\alpha < 0$  とき 制約条件  $f_1(P) = f_2(P) = 0$  を満たす  $P_0$  とする  $P$

$\Rightarrow f(P) > f(P_0)$

$$f(P) > f(P_0)$$

これは矛盾

(証明)  $P \in \mathcal{X}, P_0 \in \mathcal{X}_0$  とする.

$$\vec{x}_t = (1-t)\vec{x}_0 + t\vec{x} \quad (t \in \mathbb{R})$$

とすると

$$\begin{aligned} g_1(\vec{x}_t) &= (\vec{a}, (1-t)\vec{x}_0 + t\vec{x}) - \alpha \\ &= (1-t)(\vec{a}, \vec{x}_0) + t(\vec{a}, \vec{x}) - \alpha \\ &= (1-t) \cdot \alpha + t \cdot \alpha - \alpha = 0 \end{aligned}$$

$$g_2(\vec{x}_t) = \dots = 0$$

したがって  $\vec{x}_t$  の対する点  $P_t$  は 制約条件

$$f_1(P_t) = f_2(P_t) = 0$$

を満たす.

$$F(t) = f(\vec{x}_t), \quad \vec{p} = \vec{x} - \vec{x}_0$$

तब

$$F'(t) = (\nabla f(\vec{x}_t), \vec{p})$$

तब

$$F'(0) = (\nabla f(\vec{x}_0), \vec{p})$$

$$= (-\lambda \vec{a} - \mu \vec{e}, \vec{p}) = -\lambda (\vec{a}, \vec{p}) - \mu (\vec{e}, \vec{p}) = 0$$

तब

$$F''(t) = (H(f)(\vec{x}_t), \vec{p}, \vec{p}) > 0$$

∵  $\vec{p} = \vec{x} - \vec{x}_0 \neq \vec{0}$  ∴  $\vec{p}$  सदैव  $\vec{0}$  से अलग है, ∴  $t \neq 0$  अतः

$$F(t) > F(0)$$

तब  $t = 1$  अतः

$$F(1) > F(0) \quad \text{अतः} \quad f(P) > f(P_0)$$